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Question Id : 68634012054 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Select the most appropriate option from the given alternatives:
It's really something from the past—

when you and I split up

without any regrets——

just one thing that I don't quite understand.

When we were saying our farewells

and our house was up for sale

the empty pots and pans strewn across the courtyard—
perhaps they were gazing into our eyes

and others that were upside down—

perhaps they were hiding their faces from us.

A faded vine over the door.

perhaps it was confiding something to us

—or grumbling to the faucet.

Things such as these

never cross my mind:
Sub questions
Question Number : 1 Question Id : 68634012055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the line 'Perhaps they were gazing into our eyes." Who does 'they' refer to?

1. Vine

| S

. Bare room

LN ]

. Empty pots & pans
4. Street dog

Options :



68634047601. 1
68634047602. 2
68634047603. 3
68634047604. 4

Question Number : 2 Question Id : 68634012056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Select the most appropriate option from the given alternatives:
The line 'when the house changed hands', means
1. to bring in luggage
2. to renovate the house
3. to shift to a new location

4. to hand over the charge

Options :

68634047605. 1
68634047606. 2
68634047607. 3
68634047608. 4

Question Number : 3 Question Id : 68634012057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Tdentify the poetic device in the lime
'and others that were upside down-perhaps they were hiding their faces from us.'
1. Alliteration
2. Personification
3. Simile

4. Hyperbole

Options :

68634047609. 1
68634047610. 2
68634047611. 3
68634047612. 4

Question Number : 4 Question Id : 68634012058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find a word which means 'CARCASS' from the passage.

1. A living body
2. A dead body
3. A malnourished body
4, A skeleton

Options :

68634047613. 1

68634047614. 2

68634047615.3
68634047616. 4

Question Number : 5 Question Id : 68634012059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage which 1s a synonym of the word 'ADIEU'

1. Regret

b2

. Grumble
3. Farewell

4, Confide

Options :

68634047617. 1
68634047618. 2
68634047619. 3
68634047620. 4

Question Id : 68634012054 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Select the most appropriate option from the given alternatives:
It's really something from the past—

when you and I split up

without any regrets——

just one thing that I don't quite understand.

When we were saying our farewells

and our house was up for sale

the empty pots and pans strewn across the courtyard—
perhaps they were gazing into our eyes

and others that were upside down—

perhaps they were hiding their faces from us.

A faded vine over the door.

perhaps it was confiding something to us

—or grumbling to the faucet.

Things such as these

never cross my mind:
Sub questions
Question Number : 1 Question Id : 68634012055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the line 'Perhaps they were gazing into our eyes." Who does 'they' refer to?

1. Vine

| S

. Bare room

LN ]

. Empty pots & pans
4. Street dog

Options :



68634047601. 1
68634047602. 2
68634047603. 3
68634047604. 4

Question Number : 2 Question Id : 68634012056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Select the most appropriate option from the given alternatives:
The line 'when the house changed hands', means
1. to bring in luggage
2. to renovate the house
3. to shift to a new location

4. to hand over the charge

Options :

68634047605. 1
68634047606. 2
68634047607. 3
68634047608. 4

Question Number : 3 Question Id : 68634012057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Tdentify the poetic device in the lime
'and others that were upside down-perhaps they were hiding their faces from us.'
1. Alliteration
2. Personification
3. Simile

4. Hyperbole

Options :

68634047609. 1
68634047610. 2
68634047611. 3
68634047612. 4

Question Number : 4 Question Id : 68634012058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find a word which means 'CARCASS' from the passage.

1. A living body
2. A dead body
3. A malnourished body
4, A skeleton

Options :

68634047613. 1

68634047614. 2

68634047615.3
68634047616. 4

Question Number : 5 Question Id : 68634012059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a word from the passage which 1s a synonym of the word 'ADIEU'

1. Regret

b2

. Grumble
3. Farewell

4, Confide

Options :

68634047617. 1
68634047618. 2
68634047619. 3
68634047620. 4

Sub-Section Number : 2
Sub-Section Id : 686340399
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634012060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
A |l didn't know that she had been married since she seldom talked about herself| I |Adverb clause of conversion|
B. |She said that [ will have to go to Mumbai II. |Adjective Clause
C. Maria bought some flowers which she wanted to give her mother IT1. Noun Clause
D. |To every child, approval means love, whereas disapproval means hate IV, |JAdwverb Clause of Reason

Choose the correct answer from the options given below:

1. A-IV, B-III. C-1. D-IT

[ B

CA-TV, B-TIIL. C-I1. D-I
3. A-L. B-II, C-IV, D-III
4. A-IIL B-IV. C-I1. D-I

Options :

68634047621. 1
68634047622. 2
68634047623. 3
68634047624. 4

Question Number : 6 Question Id : 68634012060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |l didn't kenow that she had been married since she seldom talked about herself] [ |Adverb clause of conversion
B. [She said that I will have to go to Mumbai II. |Adjective Clause
C. Maria bought some flowers which she wanted to give her mother IT1. Noun Clause
D |To every child, approval means love, whereas disapproval means hate IV |Adverb Clause of Reason

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II

| )

CA-IV, B-II1, C-I1, D-I

%]

CA-L B-IL C-IV, D-III
4. A-IIL B-IV. C-II. D-I

Options :

68634047621. 1
68634047622. 2
68634047623. 3
68634047624. 4

Question Number : 7 Question Id : 68634012061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word from the given options:-

1. Stampade
2. Stampede
3. Stmapade
4. Stampode

Options :

68634047625. 1

68634047626. 2

68634047627. 3
68634047628. 4

Question Number : 7 Question Id : 68634012061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word from the given options:-
1. Stampade
2. Stampede
3. Stmapade
4. Stampode
Options :
68634047625. 1
68634047626. 2

68634047627. 3
68634047628. 4

Question Number : 8 Question Id : 68634012062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most smtable antonym of the given word Retaliation'.

1. Remove

| ]

. Admonition
3. Wholesale

4. Reconciliation

Options :
68634047629. 1



68634047630. 2
68634047631. 3
68634047632. 4

Question Number : 8 Question Id : 68634012062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The most suitable antonym of the given word 'Retaliation'.
1. Remove
2. Admonition

3. Wholesale

4. Reconciliation

Options :

68634047629. 1
68634047630. 2
68634047631. 3
68634047632. 4

Question Number : 9 Question Id : 68634012063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Trying to do the impossible. often so as to help others. while getting oneself into danger

1. Quartet

2

. Quethe

L S]

. Quixotic
4. Quiver

Options :

68634047633. 1
68634047634. 2
68634047635. 3
68634047636. 4

Question Number : 9 Question Id : 68634012063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trying to do the impossible. often so as to help others. while getting oneself into danger

1. Quartet

| ]

. Quethe
3. Quixotic
4. Quiver

Options :

68634047633. 1
68634047634. 2
68634047635.3
68634047636. 4

Question Number : 10 Question Id : 68634012064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate preposition from the options given below:

Sitting a heap rubble. holding placards. Rena Sharma and Kanika Das have started their
hunger strike protest or the Archeological Survey of India's demolition drive in Tughlaquabad.

1. on. with. for

| )

.In. on. of
3. on. for, with
4. on. of. in

Options :

68634047637. 1
68634047638. 2
68634047639. 3
68634047640. 4

Question Number : 10 Question Id : 68634012064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate preposition from the options given below:

Sitting a heap rubble, holding placards. Rena Sharma and Kanika Das have started their
hunger strike protest or the Archeological Survey of India's demolition drive in Tughlaquabad.

1. on. with. for
2. In. on. of
3. on. for, with
4. on. of. in
Options :
68634047637. 1
68634047638. 2

68634047639. 3
68634047640. 4

Question Number : 11 Question Id : 68634012065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 25 students. 72% students are interested in sports. How many students do not like participating in
sports?

1.

L]

| B}
h

4.8

Options :

68634047641. 1
68634047642. 2
68634047643. 3
68634047644. 4

Question Number : 11 Question Id : 68634012065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a class of 25 students. 72% students are interested in sports. How many students do not like participating in

sports?

1.

L]

| B}
h

4.8

Options :

68634047641. 1
68634047642. 2
68634047643. 3
68634047644. 4

Question Number : 12 Question Id : 68634012066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The ratio of volumes of two cones 1s 2:3 and the ratio of radii of their bases 1s 1:2. The ratio of their heights is:

1.8:3

-

423
3.3:8
4, 3:4

Options :

68634047645. 1
68634047646. 2
68634047647. 3
68634047648. 4

Question Number : 12 Question Id : 68634012066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The ratio of volumes of two cones 1s 2:3 and the ratio of radii of their bases 13 1:2. The ratio of their heights is:

1. 8:3

Options :
68634047645. 1



68634047646. 2
68634047647. 3
68634047648. 4

Question Number : 13 Question Id : 68634012067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the compound interest when Rs 22.500 15 invested for 18 months at 8% p.a. if the interest 1s calculated
every 6 months (correct to nearest Rs).

1. 2750
2.2792
3. 2809
4.2852

Options :

68634047649. 1
68634047650. 2
68634047651. 3
68634047652 4

Question Number : 13 Question Id : 68634012067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the compound interest when Rs 22.500 15 invested for 18 months at 8% p.a. if the interest is calculated
every 6 months (correct to nearest Rs).

1. 2750

| )

2792

3. 2809
4. 2852

Options :

68634047649. 1
68634047650. 2
68634047651. 3
68634047652. 4

Question Number : 14 Question Id : 68634012068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 men and 15 women can do a work in 6 days. One man can do the work in 100 days. In how many days can
a woman do the work?

1. 90 days

[ B

. 125 days
3. 150 days
4. 225 days

Options :

68634047653. 1
68634047654. 2
68634047655.3
68634047656. 4

Question Number : 14 Question Id : 68634012068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 men and 15 women can do a work in 6 days. One man can do the work in 100 days. In how many days can
a woman do the work?

1. 90 days

| B

. 125 days
3. 150 days
4. 225 days
Options :
68634047653. 1
68634047654. 2

68634047655.3
68634047656. 4

Question Number : 15 Question Id : 68634012069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

It 4/5 of A= 60% of B=0.75 of C. then A:B:C 1s

1. 4:5:6

| S

i I
3.15:20:16
4.16:12:15

Options :



68634047657. 1
68634047658. 2
68634047659. 3
68634047660. 4

Question Number : 15 Question Id : 68634012069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If4/5 of A=60% of B=10.75 of C. then A:B:C 13

1. 4:5:6

| S

e [ )
3. 15:20:16
4. 16:12:15
Options :
68634047657. 1
68634047658. 2

68634047659. 3
68634047660. 4

Question Number : 16 Question Id : 68634012070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement :

NoAisB

Some Bis C

All CisD

Conclusions:

I SomeAare D

IILAIlIB are D

1. Only I follow

[ ]

. Only II follow

.Both I and II follow

L]

4. Neither I nor IT follow

Options :

68634047661. 1
68634047662. 2
68634047663. 3



68634047664. 4

Question Number : 16 Question Id : 68634012070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement :

NoAisB

Some Bis C

All CisD

Conclusions:

I SomeAare D

II.AIIB are D

1. Only I follow

[ ]

. Only II follow

L]

.Both I and II follow

4. Neither I nor IT follow
Options :
68634047661. 1
68634047662. 2

68634047663. 3
68634047664. 4

Question Number : 17 Question Id : 68634012071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement : "According to me. you should get your father examined by a specialist doctor”- Rahul tells Rishi.
Assumptions : I. Specialist doctors are able to diagnose better than ordinary doctors.

I1. Rishi will certamly not agree with Rahul's advice.

1. If only assumption I 1s implicit

2=

. If only assumption II 1s implicit

Lad

. If erther assumption I or IT is implieit
4, If both assumption I or IT are implicit
Options :

68634047665. 1
68634047666. 2



68634047667. 3
68634047668. 4

Question Number : 17 Question Id : 68634012071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement : "According to me. you should get your father examined by a specialist doctor”- Rahul tells Rishi.
Assumptions : I. Specialist doctors are able to diagnose better than ordinary doctors.

I1. Rishi will certainly not agree with Rahul's advice.

1. If only assumption I 1s implicit

2

. If only assumption II 1s implicit
3. If either assumption I or IT is implicit
4. If both assumption I or IT are implicit

Options :

68634047665. 1
68634047666. 2
68634047667. 3
68634047668. 4

Question Number : 18 Question Id : 68634012072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Raghu and Babu are twins. Babu's sister is Reema. Reema's husband is Rajan. Raghu's mother 1s Lakshmi.
Lakshimi's husband 1s Rajesh. How is Rajesh related to Rajan?

1. Uncle

2. Son-in-law
3. Father-in-law
4. Cousin

Options :

68634047669. 1
68634047670. 2
68634047671. 3
68634047672. 4

Question Number : 18 Question Id : 68634012072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Raghu and Babu are twins. Babu's sister is Reema. Reema's husband is Rajan. Raghu's mother 1s Lakshmi.
Lakshimi's husband 1s Rajesh. How is Rajesh related to Rajan?

1. Uncle

| B

. Son-in-law
3. Father-in-law
4. Cousin

Options :

68634047669. 1
68634047670. 2
68634047671. 3
68634047672. 4

Question Number : 19 Question Id : 68634012073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the word for (?7) which will set same relation on both side of :: ?
North : South-East :: East : 7
1. South
2. South-West

3. North-West

4. North

Options :

68634047673. 1
68634047674. 2
68634047675.3
68634047676. 4

Question Number : 19 Question Id : 68634012073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the word for (7) which will set same relation on both side of 2 ?
North : South-East :: East : 7

1. South

b2

. South-West

L¥%]

. North-West

4. North

Options :

68634047673. 1
68634047674. 2
68634047675. 3
68634047676. 4

Question Number : 20 Question Id : 68634012074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reeta starts from her home every monday, drops her child to the school which is 10 km south. then goes to
check on her parents, who live 15 km west of school. She then goes to the Wholesale market which is 40 km
north from her parents place to by fabric. She then goes to the training centre to teach sticking. From the
training centre, which is 25 ki to the east of the market. she finally reaches her boutique after travelling 30
km south. What is the location of the boutique?

1. 10 ki east of Home
2. 10 km north of School
3. 10 km east of School

4, 10 km west of Home

Options :

68634047677. 1
68634047678. 2
68634047679. 3
68634047680. 4

Question Number : 20 Question Id : 68634012074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reeta starts from her home every monday, drops her child to the school which 15 10 km south. then goes to
check on her parents, who live 15 kim west of school. She then goes to the Wholesale market which is 40 kim
north from her parents place to by fabric. She then goes to the training centre to teach sticking. From the
training centre, which is 25 ki to the east of the market. she finally reaches her boutique after travelling 30
km south. What is the location of the boutique?

1. 10 kun east of Home

[ ]

. 10 km north of School
3. 10 km east of School

4, 10 km west of Home

Options :

68634047677. 1
68634047678. 2
68634047679. 3
68634047680. 4

Question Number : 21 Question Id : 68634012075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which public sector bank has partnered with 'Garuda Aerospace’ under 'Kisan Pushpak Yojna' ?

1. Punjab National Bank

d

2. Canara Bank
3. Union Bank of India

4. State Bank of India

Options :

68634047681. 1
68634047682. 2
68634047683. 3
68634047684. 4

Question Number : 21 Question Id : 68634012075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which public sector bank has partnered with 'Garuda Aerospace’ under 'Kisan Pushpak Yojna' ?

1. Punjab National Bank

2

. Canara Bank

3. Union Bank of India

4. State Bank of India



Options :

68634047681. 1
68634047682. 2
68634047683. 3
68634047684. 4

Question Number : 22 Question Id : 68634012076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Name of Players)] LIST II (Sports)
[Nikhat Zareen I Hockey
Sreeja Akula II. [Boxing

Deep Grace Ekka ITT. |Chess

F.. Praggnanandha IV |Table Tenms

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IV, B-1I, C-I. D-IIT

[ B

AL B-IV. C-I1. D-I
3. A-IL B-IV, C-I, D-III
4. A-IIL B-IV. C-1. D-II

Options :

68634047685. 1
68634047686. 2
68634047687. 3
68634047688. 4

Question Number : 22 Question Id : 68634012076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Name of Players)] LIST II (Sports)
. [Nikhat Zareen I. Hockey
Sreeja Akula II. [Boxing

Deep Grace Ekka ITT. |Chess

. |[R. Praggnanandha IV, |Table Tennis

o|o|w|=

Choose the correct answer from the options given below:

1. A-IV, B-1I, C-I. D-IIT

[ B

AL B-IV. C-I1. D-I
3. A-IL B-IV, C-I, D-III
4. A-IIL B-IV. C-1. D-II

Options :

68634047685. 1
68634047686. 2
68634047687. 3
68634047688. 4

Question Number : 23 Question Id : 68634012077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The SAMPADA scheme of Government of India is related to

1. Rural Banking
2. Food processing
3. Insurance for BPL families
4. Irrigation Sector

Options :

68634047689. 1

68634047690. 2

68634047691. 3
68634047692. 4

Question Number : 23 Question Id : 68634012077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The SAMPADA scheme of Government of India is related to

1. Rural Banking

| ]

. Food processing
3. Insurance for BPL families
4. Irrigation Sector

Options :

68634047689. 1
68634047690. 2
68634047691. 3
68634047692. 4

Question Number : 24 Question Id : 68634012078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The sound waves which lie in the frequency range 20 Hz to 20.000 Hz are called non
audible waves.

Statement II: The sound wave having frequencies greater than 20,000 Hz are called ultrasonic waves.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634047693. 1
68634047694. 2
68634047695. 3
68634047696. 4

Question Number : 24 Question Id : 68634012078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The sound waves which lie in the frequency range 20 Hz to 20.000 Hz are called non
audible waves.

Statement IT: The sound wave having frequencies greater than 20.000 Hz are called ultrasonic waves.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement IT is correct

Options :

68634047693. 1
68634047694. 2
68634047695. 3
68634047696. 4

Question Number : 25 Question Id : 68634012079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Subsidiary Alliance System was started by
1. Lord Dalhousie
2. Lord Wellesley
3. Lord Cornwalis

4. Lord Curzon

Options :

68634047697. 1
68634047698. 2
68634047699. 3
68634047700. 4

Question Number : 25 Question Id : 68634012079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Subsidiary Alliance System was started by

1. Lord Dalhousie

| ]

. Lord Wellesley
3. Lord Cornwalis

4. Lord Curzon

Options :

68634047697. 1
68634047698. 2
68634047699. 3
68634047700. 4

Part B: Environmental Sciences

Section Id : 686340240
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340400
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634012080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who among the following developed the Gaia Hypothesis.
1. E. S. Rowland
2. Mario Moling
3. James E. Lovelock
4, William Golding
Options :
68634047701. 1
68634047702. 2

68634047703. 3
68634047704. 4



Question Number : 26 Question Id : 68634012080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fgiferd o & formgi-l TT5aT SAYRUN &1 URGed i i 2
1.5, T9.3dls
2. Bfea gifern

3. O 5, dadid
4, faferog mfesT

Options :

68634047701. 1
68634047702. 2
68634047703. 3
68634047704. 4

Question Number : 27 Question Id : 68634012081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following mineral has a single chain structure?

1. Olivine

| S

. Quartz
3. Pyroxene

4. Amphibole

Options :

68634047705. 1
68634047706. 2
68634047707. 3
68634047708. 4

Question Number : 27 Question Id : 68634012081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafeiaa O § 59 @i-s 31 vha gl SaF1 8l 82
1. Siiefid

Options :

68634047705. 1
68634047706. 2
68634047707. 3
68634047708. 4

Question Number : 28 Question Id : 68634012082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Gondwana coals formed during-
1. Precambrian
2. Cambrian
3. Permian
4. Tertiary
Options :
68634047709. 1
68634047710. 2

68634047711. 3
68634047712. 4

Question Number : 28 Question Id : 68634012082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tisar s Hgfefad § 9 foad SR &
1. W-pmEiaT

3. g
4. Tl

Options :



68634047709. 1
68634047710. 2
68634047711. 3
68634047712. 4

Question Number : 29 Question Id : 68634012083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following may occur on the abyssal plain, below the carbonate compensation depth?

1. Calcium Carbonate shells

-

. Silica ooze
3. Silica ooze and caleium carbonate shells

4. Neither silica ocoze nor calcium carbonate shells

Options :

68634047713. 1
68634047714. 2
68634047715.3
68634047716. 4

Question Number : 29 Question Id : 68634012083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIEMC UidPR RIS & i1 FER gl 4§ Fifed & 8 &1 gfed gl 9ol 6 -
1. SR FaHe el
REINEDRE|
Ffere1 Fel 3R Sickry Hate U
4. 71 1 FHfciT &t 7 81 Siekias Srai-e e

Options :

68634047713. 1
68634047714. 2
68634047715.3
68634047716. 4

[

Lad

Question Number : 30 Question Id : 68634012084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Meanders I. |Glaciers
[U-shaped valleys| II. [lakes
Solution sinks III. [River
Alkali flats IV |Groundwater

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IT1. B-1. C-IV. D-IT
2. AL B-TV. C-I1. D-1
3. A-IV. B-II1, C-I1. D-1
4. A-I1, B-II1. C-IV. D-I

Options :

68634047717. 1

68634047718. 2

68634047719. 3
68634047720. 4

Question Number : 30 Question Id : 68634012084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gl 11 9 i Sifor
Gl A 11
A. [gHTGGR 1. [WREER (g9
B. [J-3PR &I gifcd] 1L [3d
C. [[gaad &y 1. [t
D [gRgTHaoe | 1v [yem

fefaiad fawedi 4 9 98! IO &1 99 Hifor -

1AL B €IV, DIl
2. A-IIL, B-IV, C-II, D-I
3. A-IV, B-IIL, C-II, D-I
4. A-II, B-IIL, C-IV, D-I

Options :

68634047717. 1

68634047718. 2

68634047719. 3
68634047720. 4



Question Number : 31 Question Id : 68634012085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Continental crust subducts under oceanic crust.
Statement II : Island arcs form due to ocean continent convergence.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

Options :

68634047721. 1
68634047722.2
68634047723.3
68634047724. 4

Question Number : 31 Question Id : 68634012085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FFE Ry

2 I: TETE U TRd HERIFRE IRd & A Fawafd g g

@Y I1: §IU & 919 BT HHIU HERITR HeTgiU U0 & SR §Idl 6|

S BT & fTaie H, 7d U U [dded! § 4 a9 SUgad SR B 99 & ol
1. Y1 3R 11 T TE €

2. BYT1 AR 11 S Teid &
3. FYTI TR 8. AP YT 1 TTad &
4. BYT 17T0d &, AifpT PUT 11 Tl §

Options :

68634047721. 1
68634047722. 2
68634047723. 3
68634047724. 4



Question Number : 32 Question Id : 68634012086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : There have been seven periods of mass extinctions in the earth's geological history.

Statement II : The current rate of extinction of species 13 1.000 to 10,000 times higher than the background rate
of extinetion.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634047725 1
68634047726. 2
68634047727. 3
68634047728. 4

Question Number : 32 Question Id : 68634012086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%aﬁiﬂﬁqm%
HUE 1 gl & Y- sfoer © 9 [Adi= &t 91d $raaiy 38 ¢

ﬁuﬂ%ﬁgﬁﬂm@ﬁﬁqﬁ%ﬁ[@ﬁwﬁwﬁﬁ$ﬁﬁﬁaﬁﬁaﬁm?aﬁ 1000 ¥ 10000 T[OT
HiY® Bl

Se BT & fTai® B, 7d U U [deed! § € a9 SUgad ok & 99 & [l
1. PYTI SR 11 S T8l &

2. BYT1 AR 11 S Ted &
3. FYTI TRl 8. AP YT 1 TTad &
4. BYT17TAd @, Al BYT I TS &

Options :

68634047725. 1
68634047726. 2
68634047727. 3
68634047728. 4



Question Number : 33 Question Id : 68634012087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following minerals weather and provide K ions to groundwater?

A Pyroxene
B. Biotite

C. Plagioclase
D. Onthoclare

Choose the correct answer from the options given below:
1. A.B. C only
2.B.C.D only
3.B and D only

4. C and D only

Options :

68634047729. 1
68634047730. 2
68634047731. 3
68634047732. 4

Question Number : 33 Question Id : 68634012087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o 9 fo wisl & se & SR Yo O K™ U gidl 6:

A OTORIagA
B. §lIcISe

c. wiffrafig
D. Hiufaes
1.®Pdd A. B. C
2.%auB. C.D
3. %BaAB ARD

4. HAAC AR D

Options :

68634047729. 1
68634047730. 2
68634047731. 3
68634047732. 4



Question Number : 34 Question Id : 68634012088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One 1s lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : The average composition of atmosphere near the surface of the earth is approximately 78.08% of
N,. 20.95% of O,. 0.93% of Ar, 0.04% of CO; . adds to nearly 100%.

Reason R : Water content in atmosphere 1s variable ranging from < 0.5% to 3.5% therefore. the average
composition is given on dry weight percent basis (mixing ratio).

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634047733. 1
68634047734. 2
68634047735. 3
68634047736. 4

Question Number : 34 Question Id : 68634012088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2 FyA U U §. U i@y (A) 3R BRUN(R) [T U |

SHYEYT A: Gt B Ydg & FHY aGHSA (QTATaR0T) B ST TF-1 H 78.08% of N, 20.95% of O,
0.93% AT, 0.04% HTE- SISAHFIES Bl & IR 39 Gt IR 7191 § fIaH T 100% BidT 21

PRUR : THSH QG0N T Od DI HET < 0.5% I DR 3.5% & <o § URad sial o | 59 o, o a
TR PP UR Wawd SMuR W (Af%a srura) & <t @l g1

Qe B & el O, - U U f[ddedl § 4 Hel STR ] 99 DIfeI;
1. A SRR U € ARR AT el AT &

2. A SRR ST TSI § 3R R, A 1 Gl e e &
3 ATEIEAfGIR TAd ©
4 AT S APTR TSI &

Options :



68634047733. 1
68634047734. 2
68634047735. 3
68634047736. 4

Question Number : 35 Question Id : 68634012089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which layer of the atmosphere reflects back the radio waves that are transmitted from the earth?

—

. Troposphere
2. Stratosphere
3. Tonosphere
4. Mesosphere
Options :
68634047737. 1
68634047738. 2

68634047739. 3
68634047740. 4

Question Number : 35 Question Id : 68634012089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S ®I D Ui 9=d gt § IR ST T B IH: TRIak0d Sl 57

1. &Y Had

[ )

. gadg H58d

3O Hed

L¥%]

4. g Hgd

Options :

68634047737. 1
68634047738. 2
68634047739. 3
68634047740. 4

Question Number : 36 Question Id : 68634012090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following does not form scales in water pipes of boilers or water cooling systems?
1. Calcium carbonate
2. Calcium sulfate
3. Barium sulfate

4. Sodium chloride

Options :

68634047741. 1
68634047742. 2
68634047743. 3
68634047744. 4

Question Number : 36 Question Id : 68634012090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foiferd 4 9 foad diaear a1 od y=itaH ord (@rex ofer Red) § 2ed &1 (Aai 981 glar g -

1. Pl FHEFT

. SRy gehe

. §gH Tdpe
. gifsgd wRES

Options :

68634047741. 1
68634047742. 2
68634047743. 3
68634047744. 4

[ ]

Lad

e

Question Number : 37 Question Id : 68634012091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : Nuclear fusion occurs more rapidly in hydrogen bomb explosion, and occur continually in the
Sun. releasing energy essential for the life on the earth.

Reason R : Nuclear reaction of less massive nuclei coming together to form less stable and more massive
nuclei 1s referred as nuclear fusion.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4. A 1s false but R is true

Options :

68634047745. 1
68634047746. 2
68634047747. 3
68634047748. 4

Question Number : 37 Question Id : 68634012091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Gl 2 (U U §, US SIS UH (Assertion A) & U H [GIRGd & dl GERI 3HB DRI (Reason R)db ¥
g

HIUHYT A: DT Hera g5 glor a1 fawmie § suendd iU doil 3 ufed sidl & SR Ixe 1
AR 9ed 8iaT 3 ford Basaed g9 9l IR oiidd & oy e o 39 sidl 6

PROTR: SUYTHT I WY Disd! B TSI AHfehar T T g & bataey o7 Wl 3R siftd
Rd Do Bl (HEI gIal ¢ o/ A g JorH Hel adl o |
I{E@aﬁmai 3frelies 4, A1 fau T faeedl § § 999 IUgad STk &I 997 Il

1LAJRREA T € AR R A DI TSI AT &

2. A SRR ST TS § IR R, A B GET e &I &
3. AR AP R T ©
4 AT S APAR TR S

Options :

68634047745. 1
68634047746. 2
68634047747. 3
68634047748. 4



Question Number : 38 Question Id : 68634012092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : Stability of most complexes with the alkaline earth metals is in the order Mg > Ca®™ > §r%™ >
¥

Ba“"

Reason R :For type A ions, Electrostatic model approximately explain the stability of metal-ligand complexes

that is, stability of these complexes is positively correlated with the ratio of Z*/r for both metal ion and the
ligand species.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634047749. 1
68634047750. 2
68634047751. 3
68634047752. 4

Question Number : 38 Question Id : 68634012092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 S AU T §, TS S UT (Assertion A) & ¥9 H R1RGd © 1 GERT 39d HRUT (Reason R)d ¥
T

BT A: &R gl ad & U1y eI 9l ol RRaTP1Ha §

2+ i O 2+
Mg >Ca” >8r" >Ba

HRUIR: A YPR & S| & (o0 fdgqa iids disd U1g Saud A1y & Qdl &1 guid &dl § o &
g Iyl @1 R uifa® ST 9 Sa¥ Waifd & 22/ 3FUTd & 1Y $-Td 0 9 9666 oidl o
SWed B & 3Tl O, A U U fdded] T 4 & SUge STk &I 98- & Ilu:

1. A 3R R ST T8 § 3R R. A $ Tl TR 8

2

. A 3R R S gl & IR R, A 91 Tt ourer el @

AT edfPIRTAd ©

4 ATO R AfPTR Tel ©

¥

Options :

68634047749. 1
68634047750. 2
68634047751. 3
68634047752. 4

Question Number : 39 Question Id : 68634012093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of following species is not a proton accepter in natural waters?

1. B(OH)F

| B

. [H; Si0,]°
3. AP"
4. [HPO, 1>~

Options :

68634047753. 1
68634047754. 2
68634047755.3
68634047756. 4

Question Number : 39 Question Id : 68634012093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeied # 9 1 Il wellid Jipiae o ¥ Hiel WeRS 761 © -

1. B (OH)f

[ ]

. [H; Si0,T°
L

4. [HPO,

Options :

68634047753. 1
68634047754. 2
68634047755. 3
68634047756. 4

Question Number : 40 Question Id : 68634012094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the concentration of ammonium ions (NH ) in moles per litre units in a solution having 10 ppm

of ammeonium 1ons?

1. 10 moles/litre

| ]

.~ 5.56 x10~* moles/litre
3. ~ 1.8 x10™ moles/litre

4. ~ 5.56 x107° moles/litre

Options :

68634047757. 1
68634047758. 2
68634047759. 3
68634047760. 4

Question Number : 40 Question Id : 68634012094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 ppm HHIFTT 310 gad foaa- o Mgy /- (NH, ") B Sigal (Hie Uid oiex §) 9 g 2
1. 10 Hidl Wfdeflex

.~ 5.56 x10~* HTef Hideiiey

3. ~ 1.8 x1073 Hid fcleflex

4. ~ 5.56 <10~ HId Ufdeiiex

Options :

68634047757. 1
68634047758. 2
68634047759. 3
68634047760. 4

| )

Question Number : 41 Question Id : 68634012095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Solubility of gases (e.g oxygen in atmosphere) in liquid (e.g water in a river) is best explained by -
1. Distribution law
2. Freundlich Isotherm
3. Equilibrium law
4. Henry's law
Options :
68634047761. 1
68634047762. 2

68634047763. 3
68634047764. 4

Question Number : 41 Question Id : 68634012095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%d (Iareuny 941 o1 o) B 741 (33160 & dR UR argHsd o Siquier) 31 fqaaar &1 gakay saren
fFafaRed 0 ¥ f59e grRI gl 9l 3 -
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Options :

68634047761. 1
68634047762. 2
68634047763. 3
68634047764. 4

Question Number : 42 Question Id : 68634012096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Soil Horizon) {Characteristics/Nature)
1A Horzon I. [Zone of eluviation
E Horizon II. [Unweathered mineral material

1 Surface horizon with mineral material and organic
" Jeompound bevond recognition
C Horizon IV. |Zone of illuviation

B Horzon

of o [«]»

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II
2. A-IL B-I. C-IV, D-II
3. A-IIL B-IV. C-1. D-II
4. A-IIL B-1. C-IV. D-II

Options :

68634047765. 1

68634047766. 2

68634047767. 3
68634047768. 4

Question Number : 42 Question Id : 68634012096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

%:1 T 1T
CEl (ﬁ'@l’ﬁlﬁTrﬂTﬁl‘)

A JAT I | 3=mgq &F

B ET II. [3¥ce i G-l It

C. |BER 11 [@i-sf Sl 3R UgdH 9 1 Slai-d Uard & 91 Fdel &%
D. |c &R IV. [gHUIE &
fFafaiRad f[deedi § U Ug] 3R &1 99 Difold -

1. ATV, B-III. C-1. D-IT
2. AL B-1. C-IV. D-II
3. AL B-TV. C-1. D-1I
4. A-ITL B-1. C-IV. D-II

Options :

68634047765. 1

68634047766. 2

68634047767. 3
68634047768. 4

Question Number : 43 Question Id : 68634012097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What would be the approximate kinetic energy of a piece of rock, weighing 1 kg. just before it hits the earth's
surface from a height of 20 meters?

1.507

| B

L1007
3.2007
4.40017

Options :

68634047769. 1
68634047770. 2
68634047771. 3
68634047772. 4

Question Number : 43 Question Id : 68634012097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 faam YR 9Tl O] & Sbs @1 20 HIeR &1 GaTs © gl & gy WRT e & 31 gd T Tias
Sl fara g

1. 50 v[ed

. 100 9t
3. 200 vd
4. 400 9

Options :

68634047769. 1

68634047770. 2

68634047771. 3
68634047772. 4

[

Question Number : 44 Question Id : 68634012098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A light ray entering at an angle 81 from the normal into a new material with a faster speed

1. does not change its direction with respect to normal

[

. 1s refracted away from the normal
3. 1s refracted toward the normal
4. travel along the normal

Options :

68634047773. 1

68634047774. 2

68634047775.3
68634047776. 4

Question Number : 44 Question Id : 68634012098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I 9 g S 1 oi & 10 OR did 1§ Uiay g arell weeT=1 Bt fvur
1 9 O S = el uRafid el g |
HTHR ¥ W) 3{galdd gl ol
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Options :

68634047773. 1
68634047774. 2
68634047775. 3
68634047776. 4

Question Number : 45 Question Id : 68634012099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A population of genetically identical cells sharing a particular resources within an ecological riche is called -
1. Prototype
2. Ecotype
3. Serotype
4. Genotype

Options :

68634047777. 1
68634047778. 2
68634047779. 3
68634047780. 4

Question Number : 45 Question Id : 68634012099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepsit oIifRufGesta fRT 71d & iR Saiie U § S0 SRS aTdl SIS ol [ S=ies 9sn
el 8. TN Heawd 2-

1. 371f¢ UR=Y (Uiciergy)
. ZHIcIgy (UMD UR=T)
. GRIETZY (FHRY UR=Y)

[

4. SFICRY (SF HR=Y)

[ )

L¥%]

Options :

68634047777. 1
68634047778. 2
68634047779. 3
68634047780. 4

Question Number : 46 Question Id : 68634012100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sexual reproduction -

A. mvolves the formation and fusion of gametes

B. 1s a simple and faster process as compared to asexual reproduction
C. forms zygote

D. results in offspring that are referred to as clones

E. 1s seen in flowing plants

Choose the most appropriate answer from the options given below :

1.A.B. & E only

| B

.A.C&E only
3.B.C & D only
4. A.D &E only

Options :

68634047781. 1

68634047782. 2

68634047783.3
68634047784. 4

Question Number : 46 Question Id : 68634012100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e oot & e -

A, SHY e 1 (AEi0T SR oo 2id gl

B. U8 Il Yo I a1 4 3T SR did o= [ g
C. TS I (zygote) TAT 5

D. SUH SI-d Ydld (offspring) P T & 10 I ST Il G|
E. T8 i e & S W g

19 faw e fowedl & 9 98l SR gFT
1. ¥ad A, B. IRE
2. PAUA. C 3R E
3.%ddB.C IRD
4. BT A.D JRE

Options :

68634047781. 1
68634047782.2
68634047783. 3
68634047784. 4



Question Number : 47 Question Id : 68634012101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The key reaction catalysed by ribosomes for the formation of a peptide bond between two amino acids. 1s
referred to as -

1. Ribosylase reaction

| B

. Peptidylase reaction

%]

. Ribosyltransterase reaction
4. Peptidyltransferace reaction

Options :

68634047785. 1
68634047786. 2
68634047787. 3
68634047788. 4

Question Number : 47 Question Id : 68634012101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047785. 1
68634047786. 2
68634047787. 3
68634047788. 4

Question Number : 48 Question Id : 68634012102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

{Moleculer Process) | (Molecule Involve)
DA Replication| 1. [RNA Polvmerase]
Transcription II. fENA

Protein folding | 111 [DNA Gyrase

Translation IV. |[Chaperones

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IV. B-1, C-I1. D-IIT

[ ]

CA-IL B-IIIL, C-IV. D-I
3. A-IV, B-III, C-II. D-1
4. A-III. B-1. C-IV. D-II

Options :

68634047789. 1
68634047790. 2
68634047791. 3
68634047792. 4

Question Number : 48 Question Id : 68634012102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 11 9= 11 ¥ e Sifey

T T 11
ST Uiadid| 1 [3R T3 U OieHe
PIGNECR] 1L [P R EA U
U aed | IL ST TS
EUTiaR0 IV. [9934

fefaiad faeedi 4 9 98l TR &1 99 Sifo -

1. A-IV. B-1. C-II. D-IIT

ofo]w[>

|

AL B-IIIL, C-IV, D-I
3. A-IV. B-IIL. C-II. D-I
4. A-II1, B-1, C-IV. D-II

Options :

68634047789. 1
68634047790. 2
68634047791. 3
68634047792. 4



Question Number : 49 Question Id : 68634012103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The method in which recombinant DNA is directly injected into the nucleus of an animal cell 18 known as :

1. Transformation

2

. Transfection
3. Micro-imnjection
4. Gene marking

Options :

68634047793. 1
68634047794. 2
68634047795. 3
68634047796. 4

Question Number : 49 Question Id : 68634012103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047793. 1
68634047794. 2
68634047795. 3
68634047796. 4
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Question Number : 50 Question Id : 68634012104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Moritella. a bacterium. lives at 10,000 m depth under pressure of 700 - 800 atm in the oceans. The bacterium
18 an example -

1. Thermophile
2. Mesophile
3. Piezophile
4. Xerophile

Options :

68634047797. 1
68634047798. 2
68634047799. 3
68634047800. 4

Question Number : 50 Question Id : 68634012104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Hifved HeTRI & 700-800 TSHRDBIER &4 & =g 10,000 Hiex 8R0S § 6dl ¢ | 98 Siar]

ERCAREARUGE
1. YaBIEd
4. SRIBIEEA
Options :
68634047797. 1
68634047798. 2

68634047799. 3
68634047800. 4

[ ]
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Question Number : 51 Question Id : 68634012105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Protoplasts cannot take up DNA and are not capable of regenerating whole plants.

Reason R : Plant cells are encased in a thick cell wall made of cellulose that poses a barrier to efficient gene
transfer.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

2=

. Both A and R are true but R is not the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634047801. 1
68634047802. 2
68634047803. 3
68634047804. 4

Question Number : 51 Question Id : 68634012105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g A feu U €. UF 3ifiim e (A) 3R R (R) BT U E|
HYHYA A : WET@Red S1. U4, U 78] o Ibd g SR G Ul8 Dl GF: Sod = J A& 3

BRUIR : UTGY PIRIBIE Hegarl 9 g1 g5 U Hct BIfRren ki ¥ 38d € Sl §adl ¥ SiF EaRo o
YT FF B B

Suddad YT & HTdie 4, =i 3u Y [dsedl O O 951 Iu% &1 904 B -

1. ASRR G Ul € RR AT el T &
2. A SRR EH Ugl & 3R R, A DI gl IS 6l &
3LATRI S APIRTEA §
4 ATAIE AfP-TR TSI &

Options :

68634047801. 1

68634047802. 2

68634047803. 3
68634047804. 4

Question Number : 52 Question Id : 68634012106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Plant roots are surrounded by microorganisms as part of soil-plant-microbe ecosystem which
can be termed as the rhizosphere.

Statement IT : Root exudates have no effect on Rhizosphere ecology.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634047805. 1
68634047806. 2
68634047807. 3
68634047808. 4

Question Number : 52 Question Id : 68634012106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047805. 1
68634047806. 2
68634047807. 3
68634047808. 4



Question Number : 53 Question Id : 68634012107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cloning with lambda replacement vectors involves the following steps. Arrange them from first to last, in the
order they are performed.

A. Packaging of DNA to form viable phage particles

B. Using DNA ligase to connect lambda fragments to foreign DNA
C. Isolating vector DNA from phage particles

D. Infecting E-coli cells. with recombinant phage

E. Cutting vector DNA with suitable restriction enzyme

Choose the correct answer from the options given below :
1.AC.B.E.D
2ZDCEBA
3. B, ACED

4.C,E.B.A.D

Options :

68634047809. 1
68634047810. 2
68634047811. 3
68634047812. 4

Question Number : 53 Question Id : 68634012107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CITes UIdd (faRuTH) Tfe & wry wiagfa i @l 8§ Fafafad seg mita g1 39
T & TR IR 36 Wl I 3ifd9 & o0 J Afod Hife
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1.LACBED

2.D.C.E.B.A
3B AL BB
4. C.E.B.A.D

Options :



68634047809. 1
68634047810. 2
68634047811. 3
68634047812. 4

Question Number : 54 Question Id : 68634012108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for restriction enymes (RE).

A. RE belong to the class of nucleases.

B. Each RE cuts DNA at specific points.

C. Exonucleases remove nucleotides within the DNA while Endonucleases remove nucleotides from the end
of DNA.

D. When cut with same RE, resultant DNA fragments have the same kind of 'sticky ends’.

E. Each RE recognizes a specific palindrome in the DNA.

Choose the most appropriate answer from the options given below :

1.A.C.D & E only
2.B.C.D & E only
3.A.B.D & E only
4.B.D & E only

Options :

68634047813. 1

68634047814. 2

68634047815.3
68634047816. 4

Question Number : 54 Question Id : 68634012108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfagy= TogH (3R 5) & ey & Mefaf@a s 9 s T Sy 98l & -
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g[FqaIeIss &l gerdl

D. T & 3R 5. Y PIe o R IR0 S g7 T F cwhs! § YHF THR & faufaar e giar gl

E. J0® AR 5. o U1 U H faRw U= | ! gga- @1 g

1= fiSu T faeedl © 9 99 Sugad Gk &1 99 SHIfT.
1.¥aT A, C.D AR E
2. $ad B. C.D 3R E
3.%dd A B.D IRE
4.%ddB.D AR E

Options :

68634047813. 1
68634047814.2
68634047815. 3
68634047816. 4

Question Number : 55 Question Id : 68634012109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following plays an important role in breaking the seed dormancy and seed germination?

1. Auxins
2. Ethylene
3. Abscissic acid
4. Gibberellins

Options :

68634047817. 1

68634047818. 2

68634047819. 3
68634047820. 4

Question Number : 55 Question Id : 68634012109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634047817. 1
68634047818. 2

68634047819. 3
68634047820. 4
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Question Number : 56 Question Id : 68634012110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pigments involved in eukaryotic photosynthesis include the chlorophylls and carotenoids. which are
packed in -

1. Stroma

| B

. Thylakoid
3. Lamillae
4. Outer membrane of chloroplast

Options :

68634047821. 1
68634047822. 2
68634047823. 3
68634047824. 4

Question Number : 56 Question Id : 68634012110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047821. 1
68634047822. 2
68634047823. 3
68634047824. 4

Question Number : 57 Question Id : 68634012111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which of the following bryophytes. the archesporium develops from endothecium ?

1. Riccia

| B

. Pellia
3. Funaria
4. Sphagnum
Options :
68634047825. 1
68634047826. 2

68634047827. 3
68634047828. 4

Question Number : 57 Question Id : 68634012111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047825. 1
68634047826. 2
68634047827. 3
68634047828. 4

Question Number : 58 Question Id : 68634012112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The special reproductive feature of Gnetum is
1. Presence of diploid female gametophyte
2. Presence of motile flagellated sperms
3. Absence of archegonia
4. Absence of pollen tube
Options :
68634047829. 1
68634047830. 2

68634047831. 3
68634047832. 4

Question Number : 58 Question Id : 68634012112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047829. 1
68634047830. 2
68634047831.3
68634047832. 4

Question Number : 59 Question Id : 68634012113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is true about the sporophyte of Riccia?

1. It has well-developed foot, seta and capsule

| ]

. It posseses the pseudoelaters
3. It lacks foot seta and claters and embedded in the gametophyte
4. It does not depend on the gametophyte for nutrition and survive independently
Options :
68634047833. 1
68634047834. 2

68634047835. 3
68634047836. 4

Question Number : 59 Question Id : 68634012113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rigwar & diemfdiERIeEe) & IR § Fafarad 8 3 @F 91 oy 981 82
34 gfawfad e et iR @ s gl
 THEH B9 WEES (RS I5ac) Bidl gl
 SHEA UTe, HieT 3R gaex &1 3uTd gl & SR 3 goeiie] (Heidige) § 3id: Rid gid 3
U U] & Tl GiSiE] (HEIBIge) UR 119 9 6lbR Wad ¥4 4 6ilidd 3gd 5 |

—

| ]

L]

s

Options :

68634047833. 1
68634047834. 2
68634047835.3
68634047836. 4

Question Number : 60 Question Id : 68634012114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the taxonomic categories of wheat in an ascending hierarchial order.

A. Monocotyledonae
B. Angiospermae

C. Poaceae

D. Poales

E. Triticum
Choose the correct answer from the options given below :
1LA B CINE
2.E.D,C.,B.A
3JE.CCDAB

4 A C.D.B.E

Options :

68634047837. 1
68634047838. 2
68634047839. 3
68634047840. 4

Question Number : 60 Question Id : 68634012114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

115 3 afifed) AT Pt 7 T B I o A orafa FIRG

- feu e faw et # & gel 3w @1 99 Pifo -

1LAB.CDE
2B D C B A
JECDAB
4. A.C.D.B.E

Options :

68634047837. 1

68634047838. 2

68634047839. 3
68634047840. 4



Question Number : 61 Question Id : 68634012115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Lichens are symbiotic association between algae and fungi

Reason R : The algal component in the lichens 1s known as phycobiont and the fungal component 1s known as
mycobiont

In the light of the above statements. choose the eorrect answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

2

. Both A and R are true but R is not the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

68634047841. 1
68634047842. 2
68634047843. 3
68634047844. 4

Question Number : 61 Question Id : 68634012115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g FyA RRu U €. U ey (A) 3R SRUN(R) U TU I
HfNHYT A - TSP V91 3R Had Jeoild U Bld gl

FIRUIR : AIRPH- § QT Hed AT (phycobiont) b &4 H 3[R Tad UeP HADIL (mycobiont) I =Y
BIEEIGE

ST B & fdie® §. =19 U U Al & I Hel ) &1 904 DI
1. A R R A 981 € SRR A ST 96 R 8
2. A SRR G F8l € IR R. A DI U5 ARAT T8l ©
3ATE S APARTAAS

4. ATAdE AfPTR TS ®

Options :

68634047841. 1
68634047842. 2
68634047843.3
68634047844. 4



Question Number : 62 Question Id : 68634012116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : In the course of respiration. the three carbon pyruvate molecules are broken down within the
mitochondrion to two carbon acetyl groups.

Statement IT : The Kreb's cycle begins with acetyl CoA and each acetyl group is oxidized in a series of
reactions to yield two additional molecules of CO;. one molecule of ATP. three molecules of NADH and one

molecule of FADH,.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ 15 correct but Statement IT 1s incorrect

4. Statement [ is incorrect but Statement II is correct
Options :
68634047845. 1
68634047846. 2

68634047847.3
68634047848. 4

Question Number : 62 Question Id : 68634012116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYF : Y [hUN(respiration) B GRI, - BIa UISSAC U] Hgclip 51 & iR &l Bl UREgd &
=Y ge o g

DY 1 : e °b TRICIA CoA T S BldT & 3R 83 Ud URIEIT UHE & Sfadiaul & Us SaanTa e §
CO, D Gl HfANET 3], ATP &1 UF AU, NADH & I 7] 3R FADH, BT U6 [ §1d o

SWRIdd DYl & UP H f3U MU [abedi # ¥el STk &1 999 Difoiy -
1. BT 1 AR FYA 11 &1 T8I ¢ |
2. BYA [ 3R YT 1 A Tad §
3. PYF 1 TEI § Wi PYA 11 7TAd ©
4. YT 17T § b BYT 11 eI 8

Options :
68634047845. 1
68634047846. 2



68634047847. 3
68634047848. 4

Question Number : 63 Question Id : 68634012117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Extremophiles) (Locations)
Halophvtes I. |Polar ice

Thermophiles | II. [Salt Lakes
Alkalinophiles | II1 |[Soda Lakes
Crvophiles IV. [Hot Spring

ofo[w[=

Choose the correct answer from the options given below:

1. A-I. B-IL. C-III. D-IV

[ ]

CA-IL B-IV, C-IIL, D-I

L]

AL B-IL C-1, D-IV
4. A-IV, B-I11. C-II. D-I

Options :

68634047849. 1
68634047850. 2
68634047851. 3
68634047852 4

Question Number : 63 Question Id : 68634012117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

I Tt 1
(’ﬁ%—iﬁm (rErRIfD
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Fafaiad [doedi € O gl 3R &1 994 Dol -

1. A-I. B-II. C-III, D-IV

ol|o|w|x

2. A-IL B-IV, C-III. D-I
3. AL B-I1L C-1, D-IV
4. A-IV. B-III. C-II. D-I

Options :

68634047849. 1
68634047850. 2
68634047851. 3
68634047852. 4

Question Number : 64 Question Id : 68634012118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following free species are mainly found in the evergreen forest of Western Ghats?

1. Terminalia sp
2. Lagerstroemia sp
3. Diprervocarpus sp
4. Pinus sp

Options :

68634047853. 1

68634047854. 2

68634047855.3
68634047856. 4

Question Number : 64 Question Id : 68634012118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047853. 1
68634047854. 2
68634047855. 3
68634047856. 4

Question Number : 65 Question Id : 68634012119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The type-I survivorship curve indicated by low mortality during most part of organism's life and heavy
mortality when the members reach the age of senescence 1s shown by -

1. Rodents

2. Insects

3. Birds

4. Humans
Options :
68634047857. 1
68634047858. 2

68634047859. 3
68634047860. 4

Question Number : 65 Question Id : 68634012119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C1gY-1 JTRIIGdl I5p U Siid & wiia & AU Hraalel § 7 Teiex 3R o9 9 gerul 3a®i] &
3y 7 Ul § a9 3= Heddl gRT FR{Ud gl § o ag Fifed g o vafia gidi g
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[
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Options :

68634047857. 1
68634047858. 2
68634047859. 3
68634047860. 4

Question Number : 66 Question Id : 68634012120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following trophic levels in ascending order in a decomposer food chain

A. Fungi

B. Dead Grass

C. Predatory Mite
D. Collembola

Choose the correct answer from the options given below :
1A, B, C.D
2.D.C.B.A
3 B:ADC
4. C.D.A.B

Options :

68634047861. 1
68634047862. 2
68634047863. 3
68634047864. 4

Question Number : 66 Question Id : 68634012120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uy Wre YEe § aidiad Ul wRi &1 36 S¢d 0 H suaiedd Hi

A hdd

B. Hd qUI
c. Yeli S

D. BlcrEd
i fqu T fawedl T & 981 3R &1 994 Pt ;
1. ABCD
2.D.C.B.A
3B AT
4. C.D.A.B

Options :

68634047861. 1
68634047862. 2
68634047863. 3
68634047864. 4

Question Number : 67 Question Id : 68634012121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following species of primates are restricted to the Western Ghats of India?

A. Nilgiri Langur
B. Lion Tailed Macaque
C. Golden Langur

D. Hoolock Gibbon
E. Hanuman Langur

Choose the correct answer from the options given below :

1. Aand C only

| B

.B and D only
3. Aand B only

4. D and E only

Options :

68634047865. 1
68634047866. 2
68634047867. 3
68634047868. 4



Question Number : 67 Question Id : 68634012121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & UIgHe & & 9 yollfadi dda gt ure & g 9rdi 82

: R
B. IR P U@ are Ao
C. M O]
D. galla fiTes
E. gHH R
=1 fau U fawedl O 9 98l STk &1 99 Difolt ;
1. Had A R C
2. HGAB AR D
3. Had A IR B
4. HAAD IR E

Options :

68634047865. 1
68634047866. 2
68634047867. 3
68634047868. 4

Question Number : 68 Question Id : 68634012122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : The poison dart frogs of the tropical rain forests of South America are brightly coloured.
Reason R : Native people in South America use the toxin on blowgun darts.
In the light of the above statements. choose the correct answer from the options given below :
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A 1s true but R 1s false
4. A 15 false but R 1s true
Options :
68634047869. 1
68634047870. 2

68634047871. 3
68634047872. 4



Question Number : 68 Question Id : 68634012122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 3ifieyd A 3R dd R AH® &l by G T § :
HfHYT A & @Rt & Iwdfedtiiy aul a9 & WreH 31¢ e I9Pid W S eid 8
d® R: afémn Mk & gu Hard &iH S § fay &1 va #d 8|
Sudad dYF & srdie 4, - f3u U fdsedi & I 98t IR &1 954 BT
1. A R R GHI 98 § SR R. A S Hel IR 3
A SRR G U8l & SR R. A DI He| I el &
LATEI S APARTAA S
4 ATTG & AP R TR

b2

Options :

68634047869. 1
68634047870. 2
68634047871.3
68634047872. 4

Question Number : 69 Question Id : 68634012123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Plant Derived Substance) (Original Source)
A Morphine I Vaxus brevifolia
B |Quinine I1. |drtemisia annua
C. JArtemisinin L. |Chinchona ledgeriana
D |Taxol IV |Papover sommniferum

Choose the correct answer from the options given below:

1. A-I, B-1I. C-III, D-IV

[ ]

CA-L B-IILL C-IT, D-IV
3. AL B-IILL, C-1, D-IV
4. A-IV. B-I11I, C-II. D-I
Options :

68634047873. 1
68634047874. 2



68634047875.3
68634047876. 4

Question Number : 69 Question Id : 68634012123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 g 11 ¥ [aH Sifey

T Gelpl
EUATTATED (o)
A [\ I [Cag Sidmiied]
B. [+ 1. et ugan
C. [T 111 [T SeiaT
D. [fegid IV. [qTaieR gy
Frafeiad famedl © 9 I8! IR &1 99 Dol ;

1. A-L. B-1I. C-III. D-IV
2. A-L B-II1. C-I1. D-IV
3. A-IL B-III. C-1. D-IV
4. A-IV. B-11. C-I1. D-I

Options :

68634047873. 1

68634047874. 2

68634047875.3
68634047876. 4

Question Number : 70 Question Id : 68634012124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following combinations make spinal nerves in vertebrates.

1. One pair of ventral roots

| ]

. One pair of dorsal roots
3. One roots each of dorsal and ventral nerve

4. Two dorsal and one ventral nerve root

Options :

68634047877. 1
68634047878. 2
68634047879. 3
68634047880. 4



Question Number : 70 Question Id : 68634012124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BB wigl A Fafefad & 9 fo1e 3w 4 29avs diEe! o FH gl §:
1. 31eR e P TP gTH

. WA DTS IH
. GF 3R 3HeR dle1 BT Uh-Uh Ta
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%]

31 N 3R U 3eR dfHe gd

e

Options :

68634047877. 1
68634047878. 2
68634047879. 3
68634047880. 4

Question Number : 71 Question Id : 68634012125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An inherited disease in which very few healthy red blood cells are formed and those formed are thin and
extremely fragile. is known as

1. Sickle cell anemia
2. Thalassemia

3. Leukemia

4. Septicemia

Options :

68634047881. 1
68634047882. 2
68634047883. 3
68634047884. 4

Question Number : 71 Question Id : 68634012125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ STaiRe I7T T 95d S WY a1 39 Sl HiHd 8id § 3l 38 ¥R Fitia Siikmen &
HR A R B B

1. Ryt et whftrn
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Options :
68634047881 1
68634047882, 2

68634047883. 3
68634047884. 4

[
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Question Number : 72 Question Id : 68634012126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During respiration, most of the Carbon dioxide i the blood is carried in the form of -
1. Carbon dioxide
2. Carbon monoxide
3. Carbonic acid

4. Bicarbonate

Options :

68634047885. 1
68634047886. 2
68634047887. 3
68634047888. 4

Question Number : 72 Question Id : 68634012126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YO & SR ¥ad § ST Ha- sg3fiauss by wud afgdeidi o :

H
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Options :

68634047885. 1
68634047886. 2
68634047887. 3
68634047888. 4

Question Number : 73 Question Id : 68634012127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : In the animal cell culture media phenol red 1s added. which gives the media a light pink colour.
Statement IT : Phenol red is an essential nutritional supplement for the cells.
In the light of the above statements. choose the eorrect answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT 1s false

4, Statement I is false but Statement II is true

Options :

68634047889. 1
68634047890. 2
68634047891. 3
68634047892. 4

Question Number : 73 Question Id : 68634012127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁﬁﬁwﬁqm%‘“

ST 1: UTOTT PHIfRreT Gae arendi § e foe-iTa &1 gie fobar Sran & f9s Bosas1 u1eay el
HEICIEU A REIGIE]

HUA 11 T [Ta DI & ford arfard dive smer gl
Sed Bl & ATl 1, A9 5T T fsed! § ¥ ol o= &1 997 ST

1. PYF [ 3R PYF 11 ST Tl B

PYTI AR PYT N I Tad 6
YT Tl B, A BT 1 Tad §
4. FYT T 8. AT FUT I T8l &

[

Lad

Options :

68634047889. 1
68634047890. 2
68634047891. 3
68634047892. 4

Question Number : 74 Question Id : 68634012128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cancers of the body's soft tissues are called -

1. Carcinoma

J

. Adenocarcinoma
3. Melonoma

4, Sarcoma

Options :

68634047893. 1
68634047894. 2
68634047895. 3
68634047896. 4

Question Number : 74 Question Id : 68634012128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047893. 1
68634047894. 2
68634047895. 3
68634047896. 4
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Question Number : 75 Question Id : 68634012129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following groups of the animals can be considered endothermal?

1. Anamniota

2

. All vertebrates
3. All Invertebrates

4. Amniota
Options :
68634047897. 1
68634047898. 2

68634047899. 3
68634047900. 4

Question Number : 75 Question Id : 68634012129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wigai & o ag &1 S o S e
1. Tagtafer
.l TP Hilg
gt 3p vl
4. Ufg3e
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L¥%]

Options :
68634047897. 1



68634047898. 2
68634047899. 3
68634047900. 4

Question Number : 76 Question Id : 68634012130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTOI
{(Tvpe of Molecule) (Description)
A |Carbohvdrate | I. |Chain of nucleotides
B. |Phospholipid | II. [One or more sugar units
C. [DNA III. |Chain of amino acids
D. |Protein IV |Glycerol, fatty acids, phosphate

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV. D-III

| ]

CA-IV, B-I1, C-1, D-III
3. A-L. B-IT1. C-IV. D-I
4. A-IL. B-IV. C-I. D-III

Options :

68634047901. 1
68634047902. 2
68634047903. 3
68634047904. 4

Question Number : 76 Question Id : 68634012130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-1. C-IV. D-III
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2. A-IV. B-II, C-1, D-III
3. A-L. B-I11. C-IV. D-1I
4. A-IL. B-IV. C-I, D-III

Options :

68634047901. 1
68634047902. 2
68634047903. 3
68634047904. 4

Question Number : 77 Question Id : 68634012131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Viruses consist of a core of nucleic acid (DNA or RNA) surrounded by a protein coat, called
capsid.

Statement IT : In Human Immunodeficiency virus (HIV) there is an additional external envelop or membrane
made of lipids and proteins.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true

[ ]

. Both Statement [ and Statement II are false
3. Statement I is true but Statement 1T 1s false

4, Statement I 1s false but Statement II is true

Options :

68634047905. 1
68634047906. 2
68634047907. 3
68634047908. 4

Question Number : 77 Question Id : 68634012131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634047905. 1
68634047906. 2
68634047907. 3
68634047908. 4

Question Number : 78 Question Id : 68634012132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in decreasing order of land area.

A. Afriea

B. Asia

C. Europe

D. North and Central America
E. Oceania

Choose the correct answer from the options given below :
1.C=D=A>E>B
2.A>B>C>D>E
3.B>E>C=>D>A
4. B>=A=C>D>E
Options :

68634047909. 1
68634047910. 2



68634047911. 3
68634047912. 4

Question Number : 78 Question Id : 68634012132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad &1 y-&7hd & YR W 3axiel pH H oudieyd S :

A, WBIET
B. Ul

C. XY
D. 3991 3R 7 3wt
E. nf¥refyar

i [4U U [dmedl § ¥ Ul 3R &1 994 Iy ; |

1.C>=D>A>E=>B

2A>B>C>D>E
3IB>E>C>D>A
4 B=A>=C>=D=>E

Options :

68634047909. 1
68634047910. 2
68634047911. 3
68634047912. 4

Question Number : 79 Question Id : 68634012133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following states in India 1s known for conservation of Rhododendun?

1. Arunachal Pradesh
2. Manipur
3. Meghalaya
4. Sikkim

Options :

68634047913. 1

68634047914. 2

68634047915. 3
68634047916. 4

Question Number : 79 Question Id : 68634012133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

YRA P DA T I US IS (TI) T&T & [ TS 82

1. 3JUMEd UG

AR
3, Uy
4. Tfasn

Options :

68634047913. 1
68634047914. 2
68634047915.3
68634047916. 4

-

Question Number : 80 Question Id : 68634012134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s produced by the yeast deriven fermentation principally of glucose CgH,04/Carbohydrates

plants.
1. Biodiesel
2. Bio methanol
3. Bio ethanol

4. Wood aleohol

Options :

68634047917. 1
68634047918. 2
68634047919. 3
68634047920. 4

Question Number : 80 Question Id : 68634012134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty H W U ¥ TGPIA CgH,,04/ DIEEIEST P e ¥ odd [Budih o SREEGI

1. SETSIed
2. GEAYETA
3. gETEYETa
4. 98 Hedlgd

Options :

68634047917. 1

68634047918. 2

68634047919. 3
68634047920. 4

Question Number : 81 Question Id : 68634012135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Biosphere Reserve) (State)
Agasthyamalat | 1. [Madhya Pradesh)
[Nanda Devi II. |Odisha

[Panchmarhi I11. |Tamil Nadu
Similipal IV |Uttarakhand

REE

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV. D-II

| ]

AL B-IV, C-I. D-II
3. A-IL B-IV. C-1, D-ITT
4, A-III. B-1V. C-II. D-1

Options :

68634047921. 1
68634047922. 2
68634047923. 3
68634047924. 4

Question Number : 81 Question Id : 68634012135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

g 1 T 11
(19 HEHE AART)| R
A [T I [FgusT
B. [Harad 1. [33ta
C. [doHe! 111 [afgaarg
D. [afeiure V. [FEE
fFafaiRad f[deedi § U Ug] 3R &1 99 Difold -

1. A-III, B-1. C-IV. D-II
2. A-IL B-IV. C-1. D-II
3. A-IL B-IV.C-I, D-IIT
4. A-IIL B-IV. C-II. D-I

Options :

68634047921. 1
68634047922. 2
68634047923. 3
68634047924. 4

Question Number : 82 Question Id : 68634012136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the coal types from highest to lowest rank as per their Carbon content.

A. Lignite

B. Sub bitumenous
C. Anthracite

D. Bitumenous

E. Peat

Choose the correct answer from the options given below :

1.C,D.A.B.E
2.C, DB AE
3.C.D.B.E.A
4. C.B.D.A.E

Options :

68634047925. 1

68634047926. 2

68634047927. 3
68634047928. 4



Question Number : 82 Question Id : 68634012136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B & PR Bl SARe! HH H Fareyd Do :

A, fomEe

B. 9§ fagitg
C. HUIrEEe
D. fagieg
E.Uie

=i faU T [dPedl O ¥ 9ol SR &1 99 Hifeiy ; |

1.C.DAB.E

[ ]

C,D.B.AE
3.C.D.B.E.A
4. C.B.D.A.E
Options :
68634047925. 1
68634047926. 2

68634047927. 3
68634047928. 4

Question Number : 83 Question Id : 68634012137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about Acid Rain.

1. Acid rain 1s primauly caused by NO, and SO,

| ]

. Acid rain 1s responsible for defacing of monuments
3. Acid rain have no impact on soil fertility
4. Rain water with pH of less than 5-6 is referred as acid rain

Options :

68634047929. 1
68634047930. 2
68634047931. 3
68634047932. 4

Question Number : 83 Question Id : 68634012137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATy ani & aR 1 Fafafegd o 9 &1 91 &y Tad 82

. 310 Y] qRG: NO, 3R SO,GRI BIRd gl o
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Options :

68634047929. 1
68634047930. 2
68634047931.3
68634047932. 4

Question Number : 84 Question Id : 68634012138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Los Angeles smog event was a suitable example of photochemical smog.

Statement IT : Photochemical smog formation requires NOx, volatile organic compounds and intense sun
light in which peroxy acetyl nitrate is one of the byproducts.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement I are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement I1 is incorrect
4. Statement [ is incorrect but Statement II is correct
Options :
68634047933. 1
68634047934. 2

68634047935.3
68634047936. 4

Question Number : 84 Question Id : 68634012138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047933. 1
68634047934, 2
68634047935. 3
68634047936. 4

Question Number : 85 Question Id : 68634012139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are green house gases in ambient atmosphere.

A. Methane

B. Nitrous oxide
C. Sulpher dioxide
D. Carbon dioxide
E. Argon

Choose the correct answer from the options given below:
1. A.B. C and D only
2.A.B.Dand E only
3JALB.C.Dand E

4. A. B and D only

Options :

68634047937. 1
68634047938. 2
68634047939. 3
68634047940. 4



Question Number : 85 Question Id : 68634012139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URaeiig & argHsd U Sude Wi 5139 191 @l [Hgildd il -

A fags
B. Eqd Sfiadles
C. B SEAqSS
D. B4 STAHFISE
E. 3N
=1 fau U fawedl O 9 98l STk &1 99 Difolt ;
1. AT A, B. C 3R D
2. AT A.B.DARE
3. HATA.B.C.D AR E

4. BAAA. B 3IRD

Options :

68634047937. 1
68634047938. 2
68634047939. 3
68634047940. 4

Question Number : 86 Question Id : 68634012140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : Thinning of ozone layer is more prominant over Antartica as compared to Arctic,

Reason R : Stratospheric temperature over arctic does not fall as low and for as long as 1t happens over
Antartica and Polar stratospheric clouds form less frequently over Arctic then over Antartica.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634047941. 1
68634047942. 2
68634047943. 3



68634047944. 4

Question Number : 86 Question Id : 68634012140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F9 AN BYT A IR TH R THS S HUA AT E -

HIYDYT A: Gl U DT GBIV HbicD U DI gl H Serbicsd Helgld § Si¥e IwgIHIed gl
gl
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Jierhie® U H 1 § 3R ferbicd ¥ B gu § ydia FHard 9 &f g dies J 1
Bﬁ%@m% 3freie . A1 f3u MU fasbedi § 9 Wl Iugdd GTR &1 98 HIfT:

1. A R R M 981 § SR R. A S el IR 3
A SRR Al W8T € SR R. A 1 O e e ©
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Options :

68634047941. 1
68634047942 2
68634047943. 3
68634047944. 4

Question Number : 87 Question Id : 68634012141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are creteria Air pollutants under National Ambient Air Quality standards?

A.CO
B.CO,
C.Pb
D. Hg
E. SO,

Choose the correct answer from the options given below :

1. A. B and D only

| B}

. B and D only
3.A. Cand E only

4.B. C.D and E only



Options :

68634047945. 1
68634047946. 2
68634047947. 3
68634047948. 4

Question Number : 87 Question Id : 68634012141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PTG UREY arg Ura A & S g UGNl & HFGs| Bl [&fgd BIfg;

A. CO
B. CO,
C.Pb
D.Hg
E. S0,

12 fau T faedl O 9 98l SR &1 994 BT :
1.Had A, B 3R D
2.%ad B 3R D
3.9auA. C 3R E
4. %ddB. C.D ARE

Options :

68634047945. 1
68634047946. 2
68634047947. 3
68634047948. 4

Question Number : 88 Question Id : 68634012142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following bacteria are involved in denitrification process.
A, Nitrosomonas
B. Bacillus

C. Pseudomonas
D. Nitrobacter

Choose the correct answer from the options given below :

1. A and B only
2. A and C only
3. Cand D only
4. B and C only

Options :

68634047949. 1

68634047950. 2

68634047951. 3
68634047952. 4

Question Number : 88 Question Id : 68634012142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHIEC b= WebH 1 Ffeiad o 9 &H 9 Silary] Ififid el g & -
A Hﬁfﬁmﬁﬁm
c E@W

:ﬁ%ﬁqwﬁw‘:ﬁﬁ%mﬂﬁ?ﬁaﬂﬁwz

1. Pad A IR B
2. AT AR C
3. HIAC ARD
4. PAAB AR C

Options :

68634047949. 1

68634047950. 2

68634047951. 3
68634047952. 4

Question Number : 89 Question Id : 68634012143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The concept of limiting nutrient based on the ratio between C : N : P in aquatic system works only when-

1. all C. N and P limit the growth of primary producer

| S

. C and N limit the growth of primary producer
3. N and P limit the growth of primary producer
4. either one of them (C/N/P) limit the growth of primary producer
Options :
68634047953. 1
68634047954. 2

68634047955. 3
68634047956. 4

Question Number : 89 Question Id : 68634012143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A TAH € : N : P& A U & YR R UG e &1 faar ot a1 sxar e o -
1. C. N 3R p gyl wruftys Scgs & fdbr o WiHd Hd gl
2. ¢ 3R N WIUle IaEs & faerd & Hiihd &d 8l
3.N SR P UNHE SAES & [qm B Hifid o
4. (C/N/P) B A BI5 U uufts Iaes o fdem o Siffg &

Options :

68634047953. 1
68634047954. 2
68634047955.3
68634047956. 4

Question Number : 90 Question Id : 68634012144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following metal is used in wood preservatives?

1. Mercury

2. Lead

3. Arsenic

4. Selenium

Options :



68634047957. 1
68634047958. 2
68634047959. 3
68634047960. 4

Question Number : 90 Question Id : 68634012144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18 e A PR & @ P S e wga g 2
1. pifegs
T
D
4. Wty
Options :
68634047957. 1
68634047958. 2

68634047959. 3
68634047960. 4
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Question Number : 91 Question Id : 68634012145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soils and lands that have shallow water table can develop due to excessive water evaporation and
the concentration of salts.

1. Soil turbidity

| )

. Soil rigidity
3. Soil salinity
4. Soil acidity

Options :

68634047961. 1
68634047962. 2
68634047963. 3
68634047964. 4

Question Number : 91 Question Id : 68634012145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047961. 1
68634047962. 2
68634047963. 3
68634047964. 4

Question Number : 92 Question Id : 68634012146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ratio of mass of water vapour and total mass of air (gm of H,O /kg of air) is referred as

1. Absolute humidity
2. Relative humidity
3. Mixing Ratio
4. Specific humidity

Options :

68634047965. 1

68634047966. 2

68634047967 3
68634047968. 4

Question Number : 92 Question Id : 68634012146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STAaT & YR G 801 & $d YR & ST (H,0,/ ke of air) Bl F1 H5d g
1. FRém s
2. THf& el

3. oy arqurd
4. ol 2l



Options :

68634047965. 1
68634047966. 2
68634047967. 3
68634047968. 4

Question Number : 93 Question Id : 68634012147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following zone in a lake/pond will have the highest biochemical oxygen demand(BOD).
1. Epilimnion
2. Euphotic zone
3. Littoral zone

4. Benthic zone

Options :

68634047969. 1
68634047970. 2
68634047971. 3
68634047972. 4

Question Number : 93 Question Id : 68634012147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafea @ 3 e sha o1 aee & 59 &9 (@) & 99 oifte Sifs sifedior 5T (o) gkt 87

1. ufafefeaE

USRI &4

foera &=
4. 419 &

Options :

68634047969. 1

68634047970. 2

68634047971. 3
68634047972. 4
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Question Number : 94 Question Id : 68634012148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Catalytic convertors in vehicle are used for -

1. O=idation of CO and NO

| S]

. Reduction of CO and NO
3. Oxidation of CO and reduction of NO
4. Reduction of CO and oxidation of NO
Options :
68634047973. 1
68634047974. 2

68634047975.3
68634047976. 4

Question Number : 94 Question Id : 68634012148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ae- § SoRk® JuRkade &1 wa FHifed 8 9 foad fom fear snars:

1. CO 3R NO BT Tt

. CO 3R NO &7 3[9gg
3. CO P ATTHHT 3R NO P T=a
4, CO BT 3TFTT 3R NO BT G0l

Options :

68634047973. 1
68634047974. 2
68634047975. 3
68634047976. 4

[ ]

Question Number : 95 Question Id : 68634012149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Noise levels in environment are measured in
1. Dobson unit
2. Decibel unit
3. Grambel unit
4. Hertz unit
Options :

68634047977. 1
68634047978. 2



68634047979. 3
68634047980. 4

Question Number : 95 Question Id : 68634012149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gyl ¥ @ &1 wR [hay |11 o 82
SlaeH giHe
. SlEd gHe
gTHad gfe
SLEREE

Options :

68634047977. 1
68634047978. 2
68634047979. 3
68634047980. 4
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Question Number : 96 Question Id : 68634012150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Municipal solid waste 1s composted in long rows aerated by convective air movement. The proces is called -

1. Static - pile composting
2. Windrow composting
3. In-vessel composting
4, Stabilised composting

Options :

68634047981. 1

68634047982. 2

68634047983. 3
68634047984. 4

Question Number : 96 Question Id : 68634012150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047981. 1
68634047982. 2
68634047983. 3
68634047984. 4

Question Number : 97 Question Id : 68634012151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Precision is the degree of agreement among replicate measurements of the same quantity.
Statement IT : Good precision of results always guarantee good accuracy.

In the light of the above statements. choose the eorrect answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

68634047985. 1
68634047986. 2
68634047987. 3
68634047988. 4

Question Number : 97 Question Id : 68634012151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047985. 1
68634047986. 2
68634047987. 3
68634047988. 4

Question Number : 98 Question Id : 68634012152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about UV-Visible spectrophotometer

1. It follows Beer Lamberts law

| ]

. It requires monochromatic source of light
3. It 1s also referred as colourimetric technique
4. It 1s based of absorption of monochromatic light by atoms

Options :

68634047989. 1
68634047990. 2
68634047991. 3
68634047992. 4

Question Number : 98 Question Id : 68634012152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047989. 1
68634047990. 2
68634047991. 3
68634047992. 4

Question Number : 99 Question Id : 68634012153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIO
{(Instrumentation) (Parameter)
Microscope I. |Chemical Assay

Gel Electrophoresis| 11 [Turbidity
Spectrophotometry | 111 [Resolution
Radioisotope IV. Moleculer size

ofofw[>

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV. D-IIT

[ ]

CA-IL B-IIIL, C-IV. D-I
3. A-IIL B-TIV, C-I1. D-1
4. A-III. B-1. C-IV. D-II

Options :

68634047993. 1
68634047994. 2
68634047995. 3
68634047996. 4

Question Number : 99 Question Id : 68634012153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-1. C-IV. D-III

ofo[w[>

2. A-IL B-IIL, C-IV. D-1
3. AL B-TV. C-11. D-I
4. A-ITL. B-1. C-IV. D-II

Options :

68634047993. 1

68634047994. 2

68634047995. 3
68634047996. 4

Question Number : 100 Question Id : 68634012154 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacterial oxidation of pysite (FeS,) results in an environmental concern called

1. Methanogenesis

| )

. Acetogenesis
3. Sulfidogenesis
4. Acid mine drainage

Options :

68634047997. 1
68634047998. 2
68634047999. 3
68634048000. 4

Question Number : 100 Question Id : 68634012154 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047997. 1
68634047998. 2
68634047999. 3
68634048000. 4




